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3.1  ����������
������	��	������� 

 1) ����������	
��
�
��
� �
��������������
��	
������������	
��������  �
��������!�"#��$# �%���������	
�������������
��	
�����&��
�%�	�����!�����!�����'����  �
(����	����'������)$�� �
���
  �"���"��)$�� �
� ��%���'�����
����) �"���"��)$�� �
����
�%*+����("
���,- ��%(	�.�
���'�"���� �)�� ��	
��*����������"� ��	
��*�������������
����/ ��	
�� �����+����������	
����$0���"�
12����%���*��������3�
12�� �����+��������
�+���� �
����� 

 2) ����������	
��*4�����
� �
������������	
������	�(�� �+��� ��%������������"�*$0
��$0����	� ������������	�(�� ������������"�*$0
$�"������ �"���)��������/ 3��*+�������"� ���50	�
*$0��$0����	� ��%�����"�(5	 �+��� ��5	�*!��
*����)��������/ 

 

3.2   �
�����
�	
��������!��
"�
��"
� 
 ��������*4���%&��	��*��	� !�������!�"� �  (.������������(4���'�������0�  �
�"���"��)$�� �
���� ����	(

���"���	3
�$# 

 - 	��4�!����� �*���"� 10 
6 
- 	"���!����*$0 )� !5	 !���($��	��(�	�����*4� 	���	�����	"����	���$#��������     
���!�������	��"#��0+�  (Minimum Retail Rate, MRR) , ��5	�
���!
 2553 

�*���"� ��	��% 8 

- �%�"�!��������!�*$0 2,950 ��*��	!���	!�"#���������
�� !��������'�����      

��%&��)���'����� 500 ��* , !�� )�������!�������!�"� � 500 ��* ,!�� )�
�������!�50	�����!�50��($��(%*�	��"� �!��
.$0(��  650 ��* , !�� )�������
�!�50	�*�(	�(
��.��'�"� ����������0�(��'�� 650 ��* , !�� )�������
�!�50	������"�*����%�����
���*+�����	�!�50�3778��"� � 650 ��* ��
���

� )������� 1 !�"#���	!��%�($�!�������� 2,950 ��* 
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 - 	"�������'�0
��#��	�&��
9����!�"� � ������!���5	 �*���"� ��	��% 0.05 

 - !�������4!�����'�0
��#� �	"�����	��% 5 ��	
6 (�+���� ���'�0
��#�
������	"���
   �����78	*"0�3
 , ��5	����:�!
 2553) 

 -!���(50	
��!��!�50	�
5	�'*�- !���
����	��% 10 ��	
6 �	���!��!�50	�
5	 

3.2.1   �
�����
#�
�$���%���"��
�
�&��'�	(� 

 ���*4��	�!�������!�"� ������
�� 2 (��� 3����� ���*4�!�*$0 ��%���*4��
�&"� �"��$# 
1)  $���%��"��� (Fixed Cost) �
��.�� !�� )�����*$03
��
�$0���
��3
��
����
�$0���
��

�	��+����&�� )������� 3
�����%
$&�� )���������5	3
� ��5	�%
$&�� )�������
����	��'$��3� ���"���	�
�($�!�� )����� �(����$# (�
��.�������*4�!�*$0(+���"�!�������!�"� �3���
�� 2 
�%��*�"���	3
�$#  

- $���%��"���(��
��"�%� (Fixed Investment Cost) �
��!�� )�����(+���"����
��*4�!�"#���� ;�0��
��!�� )�����*$0�����������"�;5#	*�"'�-(��.��� (+���"����*4�!�*$0�	�!�����
��!�"� �3����� !��		������%
�"�
�4���	� !���!�50	�
5	 �������!�"� � !��	4
��,-����'*�- 
!��!	
'����	�- !���!�50	�
�"�	���� !������"#��%��3778���%�%���#+� �
����� 

- $���%��"���(��
�!+
��
��
� (Fixed Operation Cost) �
��!�� )�����*$0�
�����*4�
!�*$0�%���������+��������3����� ������5	��	�'�����
�%�+���� &��)���'����� !��(�"(�����
'�"���� ��%!���(50	
��!��	��!�50	�
5	����/*$0 )� ��!����� �������%�	$���"��$# !������'�����

�%�+�����+���� 4 !� ��5	��% 18,000 ��*��	!� ��%!������&��)���'������+���� 4 !� ��5	�
�% 8,000 ��* ��%�'�0
��#� �	"�����	��% 5 ��	
6 !��(�"(�����'�"���� 30000 ��*��	!���	
6���
�*���"�*4�/
6 !���(50	
��!��	��!�50	�
5	�'*�-!���
����	��%10 �	�
��!���!�50	�
5	  

2)    $���%����,�� (Variable Cost) �
��.�� !�� )�����*$0���������� �������� ���
������ !�� )�����	50� / *$0�
��
�$0����
����
�$0���
����
�+������� �������� �"0�!5	 ��0�
$
�+����&��
� )�������
�� !�� )�����
�%��*�$#�%��0�(����
 !�� )��������� / *$0�"��
�����*4��
�&"�
�	�!�������!�"� �!���
����	��% 15 �	��	�����"���%���	���	��������(	�.�

&��
�%�	�����+���� 2 ��� �"��(������%�	$���"��$# 
 !��(�<��,�
��! 
�%�	�3
���� !���*��"'*- !��3778� ��%!��
�%
� 3��
�������
(	�.�
���&��
�%�	����!�������!�"� �*$0!�����"��!����� ��%�+���	
��
�!+���,�'50	��
!���=�$0� !���
��!�� )�������	��% 5.00 �	��	�����"� 
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 !���"(�4(+��"����(�#��
�5	� !�� )�����(����$#�
���"(�4(�#��
�5	�*$0��	� )�3
 �����+�����
������ �)�� 
���� ���(	 ����� ���������%��� ��%��� �
��
��>���	�- 	4
��,-�'50	*+�!��

(%	�� �
����� ������(	�.�
���&��
�%�	����!�������!�"� �*$0!�����"��!����� ��%�+�
��	
��
�!+���,�'50	��!���=�$0� !���
��!�� )�������	��% 3.00 �	��	�����"� 

 !��;�	
�;
��%�+��4��"����!�50	�
5	�'*�-��%	4
��,-*$0 )� ����������!�"� � 3��
�
������(	�.�
���&��
�%�	����!�������!�"� �*$0!�����"��!����� ��%�+���	
��
�!+���,
�'50	��!���=�$0� !���
��!�� )�������	���% 7.00 �	��	�����"� 

3.2.2   �
�����
#�
�!�
�,�$����� 

      ���3����	
6�	�!�������!�"� � =  
���                    P  !5	 !�� )����� ����
��"���������	!� ( 2,950 ��*��	!���	!�"#� ���!��   

������(	�.�
&��*$0
�%�	�������!�������!�"� � ���'�����
����) 


����*���"��)$�� �
�)  
Q !5	 �+����!�*$0!������%
� )�������!�������!�"� � �����	
�����

!�������!�"� ����'�����
����) 
����*���"��)$�� �
� 
3.2.3  �
�	
���
�'/$���%����,�$����� 
  �������!��%�-���*4���%&��	��*��$# �%�+���	
��
�
��
�*$03�� ������
�%�
�����*4�

��%&��	��*�
����!��%�- ��)��
��
�, (Quantitative Analysis) �'50	��!������/ *$0�% )��
��
��,?- �����"�(�� ���*4��"��$# 

  -
��!��
1��4�"��	�&��	��*�(4*<� (NPV) 

  -	"���&��	��*���� ��	��!����� (IRR) 

  -	"���&��	��*���	!�� )����� (B/C Ratio) 

  -�%�%����!5�*4��	��!����� (Payback Period) 

  -������!��%�-!��
3���"���	���4�
�$0���
�� (Sensitivity Analysis) 

 

 1)  
��!��
1��4�"��	�&��	��*�(4*<� (Net Present Value : NPV) 

       
��!��
1��4�"��	�&��	��*�(4*<��	��!�������*4�  !5	  &���
�	�
&��	��*�(4*<�*$03��
�"�!�������	��!��������� ;�0�
4���'50	�"�����!�����*$0�+��"�'����,�	����"#�
�% ��&��	��*�*$0!4�
!����5	3
� �
������
�$���*$��
��!��
1��4�"��	���%�(����(��"��"�
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��%�(����(������	��!����� ���!��	"���!���� (	"����	���$#�) ;�0�(��� �2� )�	"����	���$#�
����������(.��"�������� (��� ����!+���,!5	 

 

NPV = �
��

n

t
t

t

i
B

1 )1(
 

�
�

�

�

�
�

�

	
�
 �

��
Ci

Cn

t
t

t

0
1 )1(

 

      

Bt  =  &��	��*��	��!�����*$0������#� �
6*$0 1 , 2 , 3 ,......., 10 

Ct  =  !�� )����� �����+���������	��!����� �
6*$0 1 , 2 , 3 ,......., 10 

C0  =  !�� )��������0
���
6*$00 

 i       =  	"���!������5		"����	���$#� 

 t       =  
6�	��!����� !5	 
6*$0  1 , 2 , 3 ,......., 10 

 n      =  	��4�	��!����� (10 
6)  

 


6*$0 0 !5	 
6*$0
$�����*4����0
��� (Initial investment) 

 ��"�����"�(�� �����!�����*$0��
�%(
�"������*4��"#���	�
$
��!��
1��4�"�(4*<� 
(NPV) 
������ 0   �
��!��
���    
��!��
1��4�"��	���%�(����(��"�
������
��!��
1��4�"��	�
��%�(����(����� 

2)    	"���&��	��*���� ���������*4� (Internal Rate of Return : IRR) 

 �
��.�� 	"���(�����*$0�%*+� ��
��!��
1��4�"��	���%�(&��	��*�*$0�%
3���"� �	��!��*���"�
��!��
1��4�"��	���%�(������*4�(4*<��"#�'	�$ ��5	�
�����'����,����
	"���(�����3��*$0�%*+� ��
��!��
1��4�"�(4*<�
$!���
������- ��,?-*$0 )�
$�"��,%!����!����"����
��
��!��
1��4�"�(4*<� �%�����"����*$0�
�$0�����	"����	���$#� (i)  � NPV 
��
��	"���(����� (r) 

 � IRR �*���"#� 

 ����� IRR ���0
�������"�&��	��*�		�����!�� )������
��
6/ 3
��	�)"0�
	��4�	��!����� �'50	 ��3��
�;�0�&��	��*�(4*<� �����%
6 ��"�����"#�����	"���(�����*$0�%*+�
 ��&���
�	�
��!��
1��4�"�(4*<��	�&��	��*�(4*<���
�"�����
$!���
������- 
 

IRR = 
� �

0
0 )1(

�



� ��

n

t
t

tt

r
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��� IRR = 	"���&��	��*���� ���������*4� 

  Bt = &��	��*��	��!�����
6*$0 0,1,2,......,10 

  Ct = ���*4��	��!����� �
6*$0 0,1,2,......,10 

   r = 	"���!������5		"����	���$#�*$0��
�%(
 

   t = 
6�	��!����� !5	 
6*$0 0,1,2,......,10 

   n = 	��4�	��!�����(10
6) 
 

   �����"�(�� ��"#��
50	3��!�� IRR 		�
��������+�3
�
�$���*$���"�	"���
�	���$#� .��!�� IRR *$0!+���,3��
$!��(������	"����	���$#� �!������"#�!4�
!��*$0�%��*4� ���.��!�� 

IRR *$03���0+�����	"����	���$#� �!������"#�3
�!4�
!��*$0�%��*4� 

 3)   	"���(���&��	��*���	���*4� (Benefit Cost Ratio : B/C Ratio) 

 �
��.�� 	"���(����
�$���*$���%�����
��!��
1��4�"��	���%�(&��	��*�
�"�
��!��
1��4�"��	���%�(���*4���	�	��4�	��!�������� ��	"���!���� (Discount Rate) *$0
'����,� ��� )�(��� 

B/C Ratio = � �

� ��

�

�

�

�
�

�
n

t
t

t

n

t
t

t

C
i

C
i

B

1
0

1

1

1  

 

 ��� B/C Ratio  = 	"���(���&��	��*���	���*4� 

         Bt  = &��	��*�(4*<� �
6*$0 1,2,3,......,10 

         Ct  = ���*4�(4*<��	��!����� �
6*$0 1,2,3,......,10 

         C0  = ���*4�(4*<��	��!����� �
6*$0 0 

          i  = 	"���!������5		"����	���$#� 

          t  = 
6�	��!����� !5	 
6*$0 1,2,3,......,10 

          n  = 	��4�	��!����� ( 10 
6) 
 

  
6*$0 0 !5	 
6*$0
$�����*4����0
��� (initial investment) 

 	"���(����%�����
��!��
1��4�"��	�&��	��*��"�
��!��
1��4�"��	�!�� )�����
��	�	��4�!����� ;�0�	"���(������3����	���*4� (Benefit Cost Ratio : B/C Ratio) 
$��,?-*$0 )� �
����"�(�� �!5	 ��5	���*4� ��!�����*$0
$!�� B/C Ratio 
������ 1 ;�0��
��!��
��� &��	��*�
*$03���	��!�����
$
������!�� )�����*$0����3
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 4)  �%�%����!5�*4� (Payback Period) 

 �%�%����!5�*4��	��!����� !5	 �%�%��������+��������*$0*+� ��&��	��*�
(4*<�����!�����
$!���*���"�!�� )����� ������*4�'	�$ ��<$������%�%����!5�*4���5	���+����
6
*$0�%3���"�&��	��*�!4�
�"�����*$0��*4�(�
��.!+���,3���"��$# 
 

  �%�%����!5�*4� = !�� )����� ������*4����0
��� 

         &��	��*�(4*<��=�$0���	
6 
 

 5)  ������!��%�-!��
3���"���	���4���,-�
�$0���
�� (Sensitivity Analysis) 

 ������!��%�-!��
3���"��%�
��
�%��)�-	������0���	���
�%�
��!��
*���	
���4���,- �	��!�*$0�%�
�$0���
��3
���(.�����,-���
�	��!����� ��5	�������
1��"�
����	�*$0�
�$0���
��3
 �)�� 	"����	���$#�*$0�
�$0���
�� (��'��
�	����*$0�
�$0���
��  ;�0�
$
&���%*���	&��	��*���%���*4��	������� ������!��%�-���*4�-&��	��*��"#�(�
��.���
���!��%�-3���"��$# 
 ���*4� (Total Cost : TC)   = !�� )����� ������*4� +   !�� )����� �����+�������� 

          (Investment Cost)          (Operating Cost)  

 &��	��*� (Benefit : B) = ���3����
 (Total Revenue) 

         ��!� (P) x 
��
�, (Q) 

 �+���� ��	"���(�������5		"����	���$#���������	�(.��"���������*���"���	�
�% 8 ��� )�	"����	���$#����� ��(���)50	�=�$0��	�<��!��'�,�)�-��*%��$�� �
�%�*� 
�%�+� 


���!
 2553 �
��	"���(�������5		"����	���$#�	���	�� �������!��%�-�!������$# ��������
�� 3 

��,$!5	 

 ��,$*$0 1 *+�������!��%�-�����*4�*$0�'�0
��#� �	"���(��(4�*$0�!������"�(�
��.�+�����
��������	3
3�� �
50	(

�� ��&��	��*��	��!�����!�*$0 , 	"���!���� 8% 

 ��,$*$0 2 *+�������!��%�-��&��	��*�*$0���� �	"���(��(4�*$0�!������"�(�
��.
�+�������������	3
3�� �
50	(

�� �����*4��	��!�����!�*$0 , 	"���!���� 8% 

 ��,$*$0 3 *+�������!��%�-������*4����&����%�
�$0���
���'�0
��#�3
3��(��(4��*��3���%
&��	��*�����3���0+�(4��*�� ��,?-����"�(�� ��'50	��*4� , 	"���!���� 8% 

 


